

Government of West Bengal

Office of the Executive Engineer (North)

West Bengal Tourism Development Corporation Limited

Reginal Tourist Office, Siliguri

Mainak Tourism Property, Mallaguri, Siliguri P.O. & P.S. – Pradhan Nagar, Dist:- Darjeeling, Pin- 734003

Phone: (0353)-251-1979

Memo No.: 59 /EE(North)/2024-25

Dated: 26.09.2024.

NOTICE INVITING TENDER No. 01 OF 2024-25 OF EXECUTIVE ENGINEER (NORTH), WBTDCL, RTO OFFICE, SILIGURI-734003, Dist:- Darjeeling.

Sealed tenders in printed form specified below are invited for the following work from bonafide WBTDCL and eligible contractors and others as per G.O. and as per the particulars given in Annexure-I.

Tenders will be received by the Executive Engineer, WBTDCL, Tourism Department, Siliguri, Dist. Darjeeling (West Bengal).

Detailed Notice Inviting Tender Specifications, terms and conditions, schedule of items etc. may be seen in the office of the undersigned on every working day except holidays between 11.00 a.m. to 4.00 p.m. Intending tenderers shall have to produce up to date clearance of GST, Professional Tax, No Objection Certificate from A.R.C. and Demand Draft/Banker's Cheque or Cash at the time of submitting application for purchase of Tender Forms.

Earnest money will be received in the Form of Bank Demand Draft. Draft in favour of the "West Bengal Tourism Development Corporation Limited", Kolkata.

Each and every intending tenderer who will be allowed to purchase tender papers should without any exception drop his tender duly quoting his rate. Any deviation from this will make the tenderers liable to be debarred from purchasing tender paper in future and or to such measure as the case may be as per rule.

Intending tenderers shall obtain the tender documents in advance to guard any complication due to possible absence of the Officer inviting tender from the Head Quarters. Intending tenderers will be required to produce documents of credentials regarding their past experience, financial ability and special aptitude for the type of work for which the tender has been called for to the satisfaction of the Executive Engineer, WBTDCL, Tourism Department, Siliguri, Dist. Darjeeling (West Bengal) to allow them to purchase tender papers. Executive Engineer, West Bengal Development Corporation Limited, Dist:- Darjeeling reserves the right to reject any or all the tenders received without assigning any reason thereof.

It may strictly be noted that payment for the works will be made after availability of the fund.

Sorker 26-09.24 Executive Engineer

West Bengal Tourism Development Corporation Limited

1.	Name of the Office	1	
			West Bengal Tourism Development Corporation Limited, Siliguri.
2.	Name of the Work	:	As stated in Annexure-I
3.	Earnest Money	:	As stated in Annexure-I
4.	Estimated Amount put to tender	:	As stated in Annexure-I
5.	West Bengal Printed Form	:	As stated in Annexure-I
6.	Price per set of Printed Price Schedule and other papers	:	As stated in Annexure-I
7.	Last date & time for receiving of application for issue of Tender Form	:	21.10.2024 up to 17.00 Hrs.
8.	Date & time limit for purchase of Tender Form from this office	;	30. 10.2024 up to 15.00 Hrs.
9.	Last date & time limit for receiving of Tender papers in the tender box lying in the chamber of the undersigned	:	11. 11.2024 up to 13.00 Hrs.
10.	Time & Date of opening of Tender papers	:	11.11.2024 at 14.00 Hrs.
11.	Eligible Agency	:	As stated in Annexure
12.	Applicable Schedule of Rates	1	P.W. Schedule of Rates : 2017-18.
13.	Time of Completion	:	As stated in Annexure

N.B. In case of any unscheduled holiday or strike call on the opening of Technical bid date, the next working day will be treated as schedule or prescribed date for the same purpose.

Memo No: 59 /1(6)/EE(North)/2024-25

Copy forwarded for information to:-

- 1) The Managing Director, WBTDCL, Salt Lake, Kollata-91.
- 2) The Superintending Engineer, WBTDCL, Salt Lake, Kolkata-91.
- 3) The General Manager-II, WBTDCL, Salt Lake, Kolkata-91.
- 4) The General Manager (North), WBTDCL, Mainak Tourism Property, Siliguri.
- 5) Sri Ratan Debnath, DBA, Assistant Manager(IT), WBTDCL, Salt Lake, Kolkata-91 with a request to upload in WBTDCL website.
- 6) Sri Shrawan Pradhan, DEO, WBTDCL, Siliguri with a requested to display in Notice Board.
- 7) Office Copy.

Executive Engineer

Slorko 26.09.24

Dated: 26.09.2024

West Bengal Tourism Development Corporation Limited

Annexure-I

S. No	Name of Works	Estimated Amount (Rs.)	Earnest Money (Rs.)	W.B.F. Form No.	Time of Completio n (Days)	Eligibility of Agency
1	2	3	4	5	7	8
1.	Emergent repair & rectification of distribution wiring of Wooden Block incl. S&F of RCCB & MCB with allied electrical works at Aranya TP in the dist of Alipurduar under WBTDCL during the year of 2024-25.	96880/-	1938/-	2911(ii)	10 days	Bonafide WBTDCL and eligible contractors and others as per G.O.
2	Mosquito netting, door sill, hanger and other allied works at Bhorer Alo Tp, Gazaldoba in the dist. of Jalpaiguri. During the F.Y. 2024-2025.	90985/-	1820/-	2911(ii)	10 days	Bonafide WBTDCL and eligible contractors and others as per G.O.

N.B. In case of any unscheduled holiday or strike call on the opening of Technical bid date, the next working day will be treated as schedule or prescribed date for the same purpose.

Sorko 26.09.24 Executive Engineer

West Bengal Tourism Development Corporation Limited

Name of the Work:- Emergent repair & rectification of distribution wiring of Wooden Block incl. S&F of RCCB & MCB with allied electrical works at Aranya TP in the dist of Alipurduar under WBTDCL during the year of 2024-25.

:Price Schedule:-

SL No.	Description of Item	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
1	Supplying and fixing following rating, double pole, (Single phase and neutral), 240V, residual current circuit breaker (RCCB), having a sensitivity current 30 mA in the existing MCB DB complete with connections, testing and commissioning etc. as required. i) 25 A	14.00	Each	₹1,811.00	₹ 25,354.00
2	Supplying and fixing 240/415 V MCB of Breaking capacity 10kA & C characteristics on in rail of existing DBs and necessary connection.				
	i) 6-32A SP	8.00	No	₹ 209.00	₹ 1,672.00
	ii) 40 A DP	6.00	No	₹1,032.00	₹ 6,192.00
	iii) 63 A FP	2.00	No	₹ 2,013.00	₹ 4,026.00
3	Supplying and fixing MCB SS enclosure with IP- 20/30 protection, powder coated provision for two/four pole MCB, concealed in wall after cutting the wall & mending good the damages to original finish incl. painting, connection & provision for earthing attachment. 4 WAY	2.00	Each	₹ 348.00	₹ 696.00
4	Supplying and Drawing 1.1 KV single core stranded 'FR' PVC insulated & unsheathed single core stranded copper wire (Brand approved by EIC) of the following sizes in the prelaid polythene pipe and by the prelaid GI fish wire and making necy. connection as required. i) 3 x 22/0.3 (1.5 sqmm)	100.00	RM	₹ 53.00	₹ 5,300.00
	ii) 2x36/0.3 (2.5 sqmm) + 1x22/0.3 (1.5 sqmm) as ECC	82.00	RM	₹ 72.00	₹ 5,904.00
	iii) 2x56/0.3 (4 sqmm) + 1x36/0.3 (2.5 sqmm) as ECC	76.00	RM	₹ 105.00	₹ 7,980.00
	iv) 3x84/0.3 (6 sqmm) + 2x56/0.3 (4 sqmm) as ECC	18.00	RM	₹ 249.00	₹ 4,482.00
5	Supplying and fixing PVC Rigid Conduit 'FR' [Precision Make] on wall, ceiling with saddles and other accessories as required and mending good damages to building works. i) 25mm size	50.00	RM	₹ 76.00	₹ 3,800.00
6	Supplying & Fixing GI Modular Switch Board of the following sizes complete with three no. suitable size Copper bar with holes (for Ph, N & E) fixed on bakelite/Hard Rubber insulator over the MS welded chairs incl. top cover flushed in wall for housing the board after cutting the brick wall incl. making earthing attachment, painting and mending good damages to building works. a) 4 Module	4.00	Set.	₹ 287.00	₹ 1,148.00
	b) 6 Module	6.00	Set.	₹ 365.00	₹ 2,190.00
	c) 8 Module	5.00	Set.	₹ 447.00	₹ 2,235.00
7	Supply & Fixing 240V, Modular Socket (2 Module) type fan regulator (Step type) (Brand approved by EIC) on existing Modular GI switch board with top cover plate incl. making necy. connections etc.	4.00	Each	₹ 426.00	₹ 1,704.00

	TOTA					
	ADD LWC@1%					
	ADD GST@18% TOTAL WITH GST					
				Total	81289.00	
9	Supply of 01 no Electrician and 01 no wireman for checking all the existing wiring for loose contact, leakage, neutral fault, earth continuty and rectifing the same as per direction of EIC.	4.00	Day	₹ 1,439.00	₹ 5,756.00	
	iii) 6 sqmm	25.00	Set.	₹ 10.00	₹ 250.00	
	ii) 4 sqmm	150.00	Set.	₹ 8.00	₹ 1,200.00	
	i) 2.5 sqmm	200.00	Set.	₹ 7.00	₹ 1,400.00	
8	Finishing of the PVC insulated wire ends by socketting with pin/ring type copper sockets and insulated tapes etc., including supplying sockets, tapes.					

(Rupees Ninety Six Thousand Eight Hundred Eighty Only).

SSON 26.09.24

Executive Engineer
West Bengal Tourism Development Corporation Limited

Name of the Work:- Mosquito netting, door sill, hanger and other allied works at Bhorer Alo Tp, Gazaldoba in the dist. of Jalpaiguri. During the F.Y. 2024-2025.

:Price Schedule:-

SL No.	Description of Item	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
1	Supplying, fitting, Fixing Fly/Mosquito proof nylon net on any type of window, door shutter frame with necessary fixing arrangements complete	10.13	m2	₹ 834.00	8,448.42
2	Woodwork in door andwindow frame fitted and fixed in position complete including a protective coat of painting at the contact surface of the frame exludingcostofconcrete, IronButtHingesandM. Sclamps.(Thequantumshould be correted upto three decimals). 1st class Best Indian teak.	0.16	m2	₹ 1,28,456.00	20,296.05
3	Polyurethane Polishing to woodwork with required colour as approvedby Engineer-in-Charge with preparing surface including scaffolding and hire charges of compressormachine including cost of filler and hardener material suchas P.U. Sealing, P.U. Topcoat (Matt/Glossy), Thinner, Spiritetc and inclusive of all operation, material and labour complete as per direction of Engineer-in-Charge.	9.72	m2	₹837.00	8,135.64
4	Making one set of scaffolding only for replacing glass panels, painting, uprooting plant and another repairing works of building and S&P works for external works only with 10cm. dia bamboo as main posts at therate of 1 metre centre to centre and 7.5cm. dia bamboo ties @0.75 metre apart fitting and fixing with necessary coir,nails etc.as per direction of the Engineer-in charge.				
	3.90 metre height	1	each	₹ 279.00	279.00
	3.90 metre height (shifting)	12	nos	₹ 27.90	334.80
	extra for additional 3.6 height or part thereof	1	each	₹ 524.00	524.00
	extra for additional 3.6 height or part thereof (shifting)	4	nos	₹ 52.40	209.60
5	Taking outMirzapur or glazedporcelain tiles carefully by chiselling fromwallsor floor includingstackingserviceable material as directed.	6.75	m3	₹106.00	715.50
6	Supplying and laying true to line and level Anti-Skid, Full Body, Homogeneous & Granular finish Vitrified Tiles conforming to IS:15622-2006 & IS 4457-2007 and testing shall be made in accordance with IS:13630 [Non-modular sizes for tiles with Skid resistance > 0.5, Mohr's hardness > 5.0, Staining resistance: Class-1, Water Absorption: E < 0.5%], MOR > 35 N/sq.mm in Internal area of building e.g. Toilet Block, Passage, Corridor, Accessible Open Terrace etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry at back side of tiles using cement @ 2.91 Kg./Sqm or using Polymerised Adhesive (6 mm thick layer applied directly over finished artificial stone floor/ Mosaic etc without any backing course) laid after application slurry using 1.75 Kg of cement per Sqm below mortar only, joints grouted with admixture of white cement and colouring pigment	6.75	m2	₹1,589.00	10,725.75

				Total	90,985.00		
	TOTAL WITH GST ADD LWC@1%						
	ADD GST@18%						
				Total	76342.73		
)	Supplying, fitting and fixing wall mounted coat hanger with wooden base and metal hook complete.	18	each	₹ 608.00	10,944.00		
8	Supplying, fitting and fixing bottom sealing strip guard for Door protector from insect complete.	18	each	₹ 541.00	9,738.00		
7	Supplying, fitting & fixing granite slab 15mm to 18mm thick in floor, lobby, stair, landing and treads etc. over 20mm (avg) thick base of cement morter (1:2) laid with white cement slurry @ 4.40Kg per Square meter before placing of granite and jointed with white cement slurry @ 2.0 Kg per square meter with necessary pigments and complete as per direction of Engineer-in-charge including cost of all materials, labors, curing and roughening of concrete surface complete. Area of each Granite slab 0.6 to 1.0 Square meter	2.025	m2	₹ 2,959.00	5,991.98		
	to match with colour of tiles/ epoxy grout materials of approved make as directed and removal of wax coating of top surface of tiles with warm water and polishing the tiles using soft and dry cloth upto mirror finish complete including the cost of materials, labor and all other incidental charges complete true to the manufacturer's specification and direction of Engineer-in-Charge. (White cement, synthetic adhesive and grout material to be supplied by the contractor. In Ground Floor: Sizes-600 mm x600mm x10 mm with breaking strength > 1500 N						

Sorker 26.09.24

Executive Engineer
West Bengal Tourism Development Corporation Limited